MCR3U9
Grade 11 Pre-AP Functions

Semester 1, 2015 - 2016

Quiz — Unit 1 — Function Notatlon Translatigns, Reflectlons }l
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Modified True/False (6 KU)

State whether each statement is true or false. If false, change the underlined part to make the statement true.

Change: 7P (5)l)/

1 T/FL'/‘?(%:;): f(2)+f(3)

W

2. TIF F‘}/f g(3)=-1 then (-1,3) lies of the graph of g. Change: (3/_ - |

3. TIF El/ ) means that the value of y is found by .
multlplylnq the value of h by the value of x. Change: QPP}}HQ? ﬁ\e‘ruhdm;i h ‘]‘a X
4. TIF F If g(x)=f(x—3), the graph of g is obtained by ‘//

translatlnq the graph of f three units to the left. Change: ‘frans}ah@ ﬂllﬂ;'ﬂ. um‘IL-‘ V‘Lyq"_

5 TIF _E The graph of g is obtained by reflecting f in the
y-axis, translating three to the right and shifting
g(zx)=

X
F(-(x-3)-5

five units down. Therefore, g(x)=—f (x+3)+5. Change:

uﬂl/’\

H
6. T/IF EJ(The symbol f(u) isread “fu.” Change: O'F

7. Circle the relations that are functions. (5 KU)

8. Sketch a graph of the following
piecewise-defined function

4-5%, x<-2
g(x)=40, —2< x<2
x?2+1, x>2
-20/-16/-12 -8
In addition, state thdyaln and range of g. (8 APP)

Domain = /
Range=_§y5)F\lj \/‘50 or y /’5§
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9. Consider the function f defined by the equation f(x)=|x|. The function g is obtained by performing the
following transformations to f:

Horizontal Transformations Vertical Transformations
1. Reflect in the y-axis 1. Reflect in the x-axis
2. Translate six units to the left 2. Translate four units up

(@) Write the transformation usipg function Wn' (b) Write the transformation using mapping notation.
(2 KU) ./;g (2 KU)

S S
gl)=~f(-Cxr) +4 | (%)) —> (~x-b,~y+4)

\e

9% ~F (-x= )+ 4 or g)=-Fxs£)+4) Cor Cxap)=> (x-y=y++>)
(c) Write the equation of g using absolute value (d) On the given grid, skétch the graphs of both f and
notation. (2 KU) / g. The graph of g should be generated entirely by
using the given transformations. Do not use a
3(%) = - |"(Z+G)' +4 table of values! (6 KU)

(g 3&):'!'7““’!”3{ alx) = —| xnb|+4 )

flxc) = | |

(0,00 (=6,

(10,10)> (b, =6)
(-0, 10)—>(4,-C)

it
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q)=--(x+6)] +

-20)

10. Suppose that g(x)= f (x—5). Explain why the graph of g is obtained by translating the graph of f five units to
the right, NOT five units to the left. Use at least one diagram to illustrate your answer. (5 COM)

The S'[‘d'fememt (x) x-5) MEANS ThaT For input 29 lms
the <ame w*f,)u'f' s f)cléa_g ‘f;r mpu'f' '/Smce, 24—5' is Five
units to the LEFT of %, the mP)'l o-fi F must be Five unils
-f*O‘w‘”kLIeHoF-l'M‘l‘d‘Pg/‘r re 'H«.t(?}l\crﬁgmwf-be
fie wnts to the RIGHT oF 'Hm'f'a'P

(Dwgmm on next ’oage,)



| I\afx)
| = f(x-5)
= }(")
- | | The. input
| 'Tlfw;:»}pif./' | w9
:l'z i l.i;_a ?t e "ﬂu's meuans 'H'lﬂl..l_ /
left of the :z? 3':51‘ 79 %
n 9 A
putto g the é"mph o%‘?% ‘6’@

units 4o the n:j\d' !



